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Sloan et al. equation: 

 
Male  

METs = −0.70 (
𝐴𝑔𝑒 − 44.14

9.49
) + 0.04 (

𝐻𝑡 − 179.15

6.51
) − 0.85 (

𝑟𝐻𝑅 − 60.10

10.45
)

− 0.96 (
𝐵𝑀𝐼 − 26.46

3.50
) + 0.24 (

𝑆𝐵𝑃 − 120.58

12.70
) − 0.08 (

𝐷𝐵𝑃 − 81.09

9.32
)

− 0.14 (
𝐴𝑔𝑒 − 44.14

9.49
)
2

− 0.05 (
𝐴𝑔𝑒 − 44.14

9.49
) (

𝐻𝑡 − 179.15

6.51
)

+ 0.02 (
𝐴𝑔𝑒 − 44.14

9.49
) (

𝑟𝐻𝑅 − 60.10

10.45
)

+ 0.05 (
𝐴𝑔𝑒 − 44.14

9.49
) (

𝐵𝑀𝐼 − 26.46

3.50
)

− 0.09 (
𝐴𝑔𝑒 − 44.14

9.49
) (

𝑆𝐵𝑃 − 120.58

12.70
)

+ 0.04 (
𝐴𝑔𝑒 − 44.14

9.49
) (

𝐷𝐵𝑃 − 81.09

9.32
)

+ 0.07 (
𝑊𝑡 − 85.04

12.84
) (
𝐻𝑡 − 179.15

6.51
) − 0.07 (

𝐻𝑡 − 179.15

6.51
)
2

+ 0.04 (
𝐻𝑡 − 179.15

6.51
) (

𝑟𝐻𝑅 − 60.10

10.45
)

− 0.05 (
𝐻𝑡 − 179.15

6.51
) (

𝐵𝑀𝐼 − 26.46

3.50
)

− 0.01 (
𝐻𝑡 − 179.15

6.51
) (

𝑆𝐵𝑃 − 120.58

12.70
) + 0.11 (

𝑟𝐻𝑅 − 60.10

10.45
)
2

+ 0.13 (
𝑟𝐻𝑅 − 60.10

10.45
) (

𝐵𝑀𝐼 − 26.46

3.50
)

+ 0.03 (
𝑟𝐻𝑅 − 60.10

10.45
) (

𝑆𝐵𝑃 − 120.58

12.70
)

− 0.01 (
𝑟𝐻𝑅 − 60.10

10.45
) (

𝐷𝐵𝑃 − 81.09

9.32
)

− 0.09 (
𝐵𝑀𝐼 − 26.46

3.50
) (
𝑆𝐵𝑃 − 120.58

12.70
)

+ 0.04 (
𝐵𝑀𝐼 − 26.46

3.50
) (
𝐷𝐵𝑃 − 81.09

9.32
) + 0.02 (

𝑆𝐵𝑃 − 120.58

12.70
)
2

− 0.06 (
𝑆𝐵𝑃 − 120.58

12.70
) (
𝐷𝐵𝑃 − 81.09

9.32
) + 0.01 (

𝐷𝐵𝑃 − 81.09

9.32
)
2

+ 0.88(1 − 𝑆𝑚𝑜𝑘𝑖𝑛𝑔) + 11.29 

 

 

Female 



 

2 

𝑀𝐸𝑇𝑠 = −0.71 (
𝐴𝑔𝑒 − 44.11

10.17
) + 0.09 (

𝐻𝑡 − 164.62

5.96
) − 0.63 (

𝑟𝐻𝑅 − 64.02

10.11
)

− 0.75 (
𝐵𝑀𝐼 − 23.31

3.68
) + 0.17 (

𝑆𝐵𝑃 − 112.42

13.94
) − 0.10 (

𝐴𝑔𝑒 − 44.11

10.17
)
2

− 0.07 (
𝐴𝑔𝑒 − 44.11

10.17
) (

𝐻𝑡 − 164.62

5.96
)

+ 0.08 (
𝐴𝑔𝑒 − 44.11

10.17
) (

𝑟𝐻𝑅 − 64.02

10.11
)

+ 0.10 (
𝐴𝑔𝑒 − 44.11

10.17
) (

𝐵𝑀𝐼 − 23.31

3.68
)

− 0.05 (
𝐴𝑔𝑒 − 44.11

10.17
) (

𝑆𝐵𝑃 − 112.42

13.94
)

+ 0.02 (
𝑊𝑡 − 63.21

10.78
) (
𝑟𝐻𝑅 − 64.02

10.11
) + 0.02 (

𝐻𝑡 − 164.62

5.96
)
2

− 0.01 (
𝐻𝑡 − 164.62

5.96
) (

𝐵𝑀𝐼 − 23.31

3.68
)

+ 0.07 (
𝐻𝑡 − 164.62

5.96
) (

𝑆𝐵𝑃 − 112.42

13.94
) + 0.10 (

𝑟𝐻𝑅 − 64.02

10.11
)
2

+ 0.05 (
𝑟𝐻𝑅 − 64.02

10.11
) (
𝐵𝑀𝐼 − 23.31

3.68
)

− 0.02 (
𝑟𝐻𝑅 − 64.02

10.11
) (
𝐷𝐵𝑃 − 76.04

9.33
) + 0.01 (

𝐵𝑀𝐼 − 23.31

3.68
)
2

− 0.06 (
𝐵𝑀𝐼 − 23.31

3.68
) (
𝐷𝐵𝑃 − 76.04

9.33
)

− 0.03 (
𝑆𝐵𝑃 − 112.42

13.94
) (
𝐷𝐵𝑃 − 76.04

9.33
) − 0.01 (

𝐷𝐵𝑃 − 76.04

9.33
)
2

+ 0.77(1 − 𝑆𝑚𝑜𝑘𝑖𝑛𝑔) + 9.07 
Google sheet link (simplified calculation tool transferable to Excel): 

https://docs.google.com/spreadsheets/d/1lnYl4u62AMSUxkzyzKsKBHe8vr3WzLVRYxGyYE7xoGQ/edit#gi

d=155 8519083  
 


